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MEBX :

LPS SCHRH- i BR /K e, A H I = BR /A A sl MR AN H i (Bl H i —BE Al . LPS J 2 (e T
BRI F . ML LPS K53 = H LT R 2 A AR o

MERIE
LPS AL g A g RS 1R ) PR S 020 5 A T R A S =, BRI U5 LPS i

BEUSEMAMR:
k. EREOHL. BHIEAA. 1T EEHH/EEFR. ME At a6 fLik. TRk, F
2K 80mL. UKFIZEK .

R FILE AR AT -

WA Witk 65mLx2 i, 4°CIRAF.

WA VAR 10mLx ] i, 4°CARAE. AV AT P VR 51 28 R 24 7% % 20min.

WA =: 2K 80omLx1 i, 4CHRAE (A&,

WAIPY: Wik 10mLx1 i, 4°CHRAF.

AU AR 10 uLx] 10 pmolmL HUARMEEWE, 4CIRA7. IRIRTIIN 3.168 mL HI%, /A

SRR AN

1. gl BBALFRE (g)  RF B (mL)JN 1: 5~10 FIELH] CEURERZ) 0.1g 204, fA 1mL
F—) BHATUKIEAIH . 12000g, 4°CESC» 10min, HX -7 B ok 4500,

2. HR. AR HERARSeE Qo0 o WF AR (mL) A 500~1000: 1 BIECET CGE2IX 500 J3 40
TIN ImL AR, VKA RS P A R0 I (Bh R 300w, 875 3 8P, [8]f@ 7 #2, S 1A] 3min); 485 12000g,
4°C, B0 10min, B EIEE TUKER.

3. MESWRAAR: BRI,

LPS BRI

1. 506 e B /B ARA T 30 min, HFTIEKE] 710 nm, ZEEKIHE.
2. R AR B T 37°COKIB T 30min.

3. f£ 1.5mL EP &KX T 511

EwiIEZ QT )
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ZRIBIK 150

FEAR 50




A — 300 300
A= 100
37°CHR% B 10 min

A= 800 800
37°CHR% XN 10 min J&, 8000g, 25°C, &5.» 10min, HU 3B

WA (uL) TAE e PrdEE
FiEW 400 400
PRk b 400
Y 100 100 100

37°CHR XM S min f&, FE Smin, B 200uL L ZEWINARE AT EIL/96 FLAR, T 710nm A& E RO
Ho
ER: SAEMMEE RFENE K.

LPS & HEAR:
1. A48, AN AR LPS Wh 1

(D) B PR T
TETERALE e 37°C i 2 5w B VR4 B K ARAEONE T 22 1 1 pmol IR DT R 9 — AN Vi BT
LPS (umol/min/mg prot) = [C Frif fhx(A MEE-A FHE)+ (A FRifE- A TAE) XV e+ (CprxV ££) +T

=16x[(A MEE —A THE ) (AWHEE- A THE) 1+Cpr

(2) FRHFEA o B 5
TEHERALE X 37°C R S A SV 4y Bl K AARINE T A B 1 umol AR TR N — BTG FRA .
LPS (umol/min/g ) = [C FrifEfbx(A MEE-A FEE) (AFREE- A TAE) XV E+ (WxV FEV

FEED =T
=l6x[(A MEE—A FAE) (AREE-ATAE) =W

(3) 2 HE4H B Bl Al e 2 v 5
TEHERALE X 37°C R 104 AN AH A o0 /K S REONA Tl 2B B 1 pmol R 0 2 — AN G S
LPS (umol /min/10%cell) = [C #R#EMx(A MEE-A TAE)+ (ARREE- A TAHE) XV i+ (AE

XV FE-V R +T
=16x[(A MEE—A FTAE) (A WEE- A TAE) s
2. MR LPS i
TETERALE e 37°C g 2 T LS B 43 B K AR AR T 22 1 1ol IR U7 Ry — AN Vi BT
LPS (umol /min/mL) = [C #R#EM*(A WEE —A A+ (ARES- A TAE) XV RE+V BT
=l6x[(A MEE—A THE) (AWFEE-ATAE) ]

ChpEfh: 10 pmol/mL; V B RN EAKI, 0.8mL; VFE: RNFMAREARAE, 0.05mL; V BEE:
IMNIRBGRAAR, ImL; Cpr: LiEWUE ARIKE, mgmL, 75 BNIE, EEHAAT BCA &R
Erale e, W FEARTIE, g T: MEARMBIEIE, 10 min.



